Writing-Project-0-solns.notebook October 19, 2024

Writing Project 0 - Trig Review

1. (10 pts) The radii of the pedal sprocket, the wheel sprocket, and the rear
wheel of the bicycle are 4 inches, 2 inches, and 14 inches, respectively. A
cyclist is pedaling at a rate of 1 revolution per second. Find the speed of the
bicycle in feet per second and miles per hour.

See figure on the right.
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2. (10pts) Sketch the graph of f(x)=2sin(x)—1.

ALsin CX\
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4. (10 pts) Construct a cosine function that models the periodic data Las Vegas, | International
from the temperature table for Las Vegas on the right. Your model et Falls, /
should have a period of 12 months. 1 57.1 13.8

2 63.0 224
3 69.5 34.9
Nathan asks "Which city's temperature data are we to 4 8.1 515
model?" I reply: "Question was poorly posed. Either ; 223 ;’:{2
one will do. Because I didn't specify, I need to do both." ; :::“:; ;(“;
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5. (10 pts) Given that tan(ﬁ) :§ and sin (ﬁ) <0, find the exact

value of the other 5 trigonometric functions.
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6. Suppose A=33",a=10cm, and b=15 cm.

a. (5 pts) Show that there are two solutions to this
triangle, before solving the triangle.

b. (5 pts) (Law of Sines) For one, B will be acute. That’s the first
solution that the Law of Sines will produce. For the other, B will be
obtuse. Round final answers to 3 decimal places. See figure on the

right.
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